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Instructions for using your Knowledge Organiser

You can use your knowledge organisers and exercise book in a number of different ways but you should

Self-testing

not just copy from the Knowledge Organiser into your book.

Below are some possible tasks you could do in your workbooks

Ask someone to write questions for
you

Write your own challenging questions
and then leave it overnight to answer
them the next day

Create mindmaps

Create flashcards

Put the key words info new sentences
Look, cover, write and check
Mnemonics

Draw a comic strip of a timeline

Use the ‘clock’ template to divide
the information into smaller sections.
Then test yourself on different sections
Give yourself spelling tests

Definition tests

Draw diagrams of processes

Draw images and annotate/label
them with extra information

Do further research on the topic
Create fact files

Create flowcharts




Presentation

You should take pride in how you present your work; each page should be
clearly labelled with underlined title and date. There should be an appropriate amount of work.

The Knowledge Organisers are designed to help you learn a wide range of
knowledge which in turn will mean you are more prepared for your lessons as
well as the new style GCSEs that you will sit in the future.

To get the most out of your Knowledge Organiser, you should be learning
sections and then self testing in your workbook.

Do not just copy into your workbook

Always check and correct!




Subject: Art Year 8: Perspective (Clay Relief)

Famous Landmarks
Roman Colosseum, Gherkin, Islamic, London Eye
Taj Mahal, Kremlin, Sydney Opera House.

In this project you will learn observe and replicate
both One and Two Point Perspective, step-by-step.

Students will select a Famous Landmark/building and
make it using the Clay tile relief effect
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By the end of the project you should have gained the skills and knowledge to be
Key Words able to do the following:
v" Vanishing Point _ _
v Vertical Line 1. Understand how apply One and Two Point Perspective.
v Horizontal Line 2. Can demonstrate how to manipulate clay and use a range of tools.
v Relief 3. Successfully use resources to create a range of art works.
v Buttering 4. Present your work to a high standard.
v' Scoring/scaring 5. Work in accordance to Health and Safety procedures. _
v Architecture 6. Have written in more than 30 words on why you have done a piece of work.




Year 8: Computer Science

Key vocabulary

Computer Networks & The Internet

A collection of computer systems that are linked together and

Network can share data.

Node A device connected to a network via a link.

Links The interface on which multiple devices can communicate.
Such as a cable or wireless.

Client A client is a piece of computer hardware or software that
accesses a service made available by a server.
A server is an instance of a computer program that accepts

Server and responds to requests made by another program, known

as a client.

LAN

Network Scale

A Local Area Network. All devices are connected on one site.
The network may be in a single building or campus or group of
buildings in a small area. Management and maintenance is
usually completed by a group of network engineers.

A Wide Area Network. Typically covers a large geographical
area, talking in many cities or worldwide. The connections are
typically provided by a telecoms company such as BT. The
largest example of 2 WAN is the internet. A WAN connects
multiple LAN networks.

PAN

Personal Area Network. Personal devices are often connected
to each other in a home or a car.

WLAN

Wireless LAN

Metropolitan Area Network. Devices are connected in a city.
Mot commonly used as many devices now use the internet.

Storage Area Metwork where multiple servers provide a large-
scale storage facility.
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Server-based

NMetwork Organisation
One or more computers are designated as servers,

Client - Server . . ;
providing a service to clients on a network.

Virtual Private Network. A& part of the internet that is sealed
off from public use and reserved for an organisation. It is not a
physical network but behaves as one.

A distributed system where functionality can be
divided among the nodes on the network. All
computers have an equal status and may partially act
as a server to other devices. Peers are both suppliers
and users of network data and services.

Peer-to-peer




Year 8 Subject: Computer Science

Key vocabulary

Understanding Computers - Operating Systems

Roles of an operating system

Operatin (O5) A collection of programs that tell the hardware what to do. Managing hardware & peripherals
pe J They are necessary on most computer systems, other than simple Managing programs installed and being run

self-booting systems devoted to a single task. Managing data transfer between memary locations, the CPU and secondary
Kernel A part of the operating system that connects applications to the storage

hardware. Applications do not have direct control over hardware. Providing the interface between the hardware and the applications

A system for providing a means of communication between the user Providing an interface between the computer and user, managing display to
User interface . .

and the operating system. Sits above the kernel. the screen
Batch file A file that contains a series of command line instructions. Managing security and organising data so that it is not overwritten
DLL Dynamic Linked Library Providing a file system for the storage and retrieval of files
Library A series of instructions and commands available to a programmer. User interfaces

Software that is permanently stored on a device using a ROM Commands are given to the operating system through using
Firmware , . .

device. Command Line | text. Normally used by technicians as it can provide

If a current program is loading data from a slow peripheral, rather powerful instructions quickly.
Multi-Tasking than allow the CPU to stand idle it will turn its attention to another . The use of small icons that represent applications and

) Graphical User .

process. Often used to run several programs at one time. Interface (GUI) actions that are performed to reduce the need to learn

An operating system that allows many users to log into the same commands.
Multi-User OS ) . .

system simultaneously. : Mainly used on mobile devices to provide voice input to a

- - Voice Input

Real time OS Safety-critical systems that require a short and guaranteed computer system.

response, such as in a nuclear power plant. Typical operating systems

The process of arranging, controlling and optimising commands Developed by Google to run on mobile devices, based on
Scheduling e P gine & and opHmising Android ped by Goog S

within the CPL. Linux.
User A set of controls that allow the access and actions of users to be Mac OS Apple’s mobile device operating system used on iFhones,
management restricted. iPads and Apple TV.
Memory Operating system ensures that all data is stored safely and Ui A widely used platform for building alternative operating
Management efficiently in the correct location. systems above including MAC 05 X and Linux.

Splitting programs into equal sized pages to fill available blocks in . Available in many distributions, Linux is an open source
Paging Linux .

memaory. operating system based on Unix.
Segmentation Splitting programs into blocks to fill available blocks in memory. Mac 05 X Operating system on Apple computers based on Unix.
Driver A program that controls a peripheral device. Most commonly used operating system developed by
Peripheral Managing the communication through signals between a device and Windows Microsoft. Windows is used on laptop and desktop PCs and
Management its driver. on a range of devices.




Year 8: Drama

Pantomime

Facial Expression Using your facial features to show emotion to the audience.

Gesture A hand or head movement that signals an emotion or

information to the audience.
Proxemics Use of space on stage.
Mime Using gestures to signal to a prop or character that isn’t on
stage.
Narration Breaking the forth wall to tell the story directly to the

audience, filling in important details missed in the action.

Watch a Pantomime Reading Material
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Year 8 Subject: Drama

Pantomime

The 5 stock characters of a Pantomime:
1. The Hero
2. The Fool
3. The Villain
4. The Damsel
5. The Dame

Key Elements of a Pantomime:
* Audience Interaction
e Call and Response
* Stock Characters
* Exaggeration
* Song and Dance
* Modernisation

The Six Golden Rules

of a Still Image:
e Still
e Silent
* Facial Expressions
 Body Language
* Levels
* Focus




r
Context — The ploy wos written by Willom Shakespeare, and was firt performed around 534,

Year 8: English

Romeo and Juliet

thakespeare's Thme — Shaokempeare wrote his phays at the time of
two monarche: Queen Elizobeth | ond Jomes L Rameo
ot et o aritten relotiuely eorly in Sholkerpeare's
career (the bulk of his trogedies were written in the ™
certung) vt wos extremedy populor in bis Bfetime, as &
e Shakespeare borroased heouiy from two texds: The Frogkal
Muteryy of Romos and bilfef (1562) ond Polose of Peorurs (1587

Elizabethon England and lbaly —Shokespeares frequentiy engaged
with [toky in his plos, keoding marsy to belewe that ha

Religion — The heowy religiows presence b evident ocros
seeral parts of Beres ond fudet Thi b reflective of o
socheby acrom Europe that was deeply religious
{predominarthy cotholic or protestont) Several dhoroctens

demamtrote their cornmirnent bo the dwrch, such as
Romeo ond Julket who chose to mamy rather then fornicote, and
thi Copulizts, wha are guick to contemplote that Jullet 5 in o better
phace (heauven) ofter she b found 'deod

Astrolegy the fupernotural — &t the time of

Shaokespeore, the befief in both oitronomy ond the -
supsarmeturod wao far mione preeminsnt than in sodeby

today. The reference to Sar-oos'd kuers dermomstrates the: lamge
roke of horcscope: and plonet pesftions in being wed to predit fote,
Ao, Romea and Jubiet moke reference to the foct thot thiy fed

thay ore be .. forbune's fool).

trovelied thare bebasson the lote 1550% ond earky 5504 :."
woukd hoss had o keen imterest in; i wos ofready on
advonced and beoutiiul ploce for trovel. Shakespeare’s depikction: of
Patrlarchal kochety —Society throughout the Middie Age =
and ot Shakespeare’s Hrme wos patrarchal — women Q
much of Europss, indudng Raky. Women befionged to u
thedr fathers {or brothers if their fathers had died) and then their
wsrre mot penmitted to o kand or enter micst profesdons. They
were insteod expected to bsar children, ke genthe and womaniy.
advonced In Shakespeare’s age ot they are todoy — there

were rumercas allments ond dbeoses that wene not yot +
the Capulets ond Romes that Jullet could howe died o
sddanlky and 1o woung. The high decth count in the pkay would

Faky was a ploce thaot Shakespeare's contemporaries

mamy areas of allan bfe ot the tme ore deemed lorgely coourate.
wasere comsdened inferior to men. This wos oo the ose in
husbands, o Julket would be expected to obey her fother. Women
Healtheore ond Medidne — Heolthoore and medicine were not os
urderstood. This mokes it much more belessable for both

seem dighthy mone comemean in those diogs!

Main Characters - Consider whot Shokespeone intended throwgh his choroctersation of each of the bk

Romes — Thie sonond hadr of Lord and Lody Mantogue. Rameo i
handiome mnd intelligent. wet he i aba mpulsive and extremeiy
semitive. Aomen & a peoceful dhorecter, ond & not interested in the
wickenice theat goes on orcund him, dhocang imteod to foos his
erergies on bue. Althowgh Romieo's loue seems floklie (he: foues
Reosaling ot the catset) bk commitment con't be debaoted in the end!

Juliet — The doughter of Capulet ord Lody Copulet. Julet ko
begutihul veung girl (13 yeors ofd ot the start of the play). Juliet &
coving, compostionate, and ot tines demonstrotes couroge [the
diefies her parents in order to morry Romseo, and drinks the contents
of thie viod without fully trustineg s effects). At e, she showas greot
Intefliaencs ond wit, particulory incomeersetiors with her mother.

Flrat feemes Act | Scenc Final &emnes: Act W Scone Il

First Soene: Act | Scene I Final fcene: Act W Scana I

Prince Ercolus— The micst poaserful charader in the ploy, with the
outhietty to gouem the other characters and administer sentences.
Ha i+ oko o kinsman to Meroutio ond Park. A the seot of Yerong, his
main concem throughout mot of s oppecronoe ane in relotion to
ersuring that the peoce b kept. M i merdful in barishing Romeo
fior the deoth of Tybalt, as cppored tosentencing him ta death.

Mercutio = A kirsmon to the prince and one of Romeo’s clotest
friends. Mercutio b an extroordinory dhorocter in that he hos
sparkiing wit ond o vivid imagination Much of Meroutio®s spesche:
deal in pum and ward-play. He appearn to see kimwelf as being
aboue the viees of love, chooing Irstead to view it os mbploced
sepunl appetite. Hi hot-headedmnes: b eventuatly his downfoll.

Flrak Seemes Act | Sceme | Final fcenes Act V' Scone B

Flrak Scemes Act | Scere IV Fireal fremes Act B Sconc |

Montogue and Copulet — The potriarchs of the Montogus and
Copulict Families, wha horee held o kong ond viclent fewd with ane
another from scme time before the play begins. Both seem to
decphly ke their respectioe child, vet do not ol sem
oppropriotely aware of their emotiomnal welbsdng. For example,
Rorneo choowes to walk the streets in meloncholy rother than share
hiés feabngs with his fother, ond Copulet foeds the bt thing for Juliet
wioulk be a morrage with Pars.

Frior Laurence and the Murse — Both Frior Lourence and the
Murie oot o guidance countel for Romeo and hellet. They oppear ta
be the two people thot Romeo ond Jullet tnst more than any cthers
I the warld, as they are the baw that they confide in. Frior Lowrerce
B kind ond chic-mindied {belicuing the marmioge moy heal the
fowd), whist the Mure i kind and sentimental fuet of tmes valigary
She seems or though she b more of a mother to |ullet thon Lody

Capulet hos ever been.




Year 8 Subject: Drama

Romeo and Juliet

Lowe — In Romeo and Jubiet, love b on extremsly cosrpowsering foroe that wupersedes all other values, emotions, and lopalties. Throwgh their
loaz, Romeo ond lullket comipine to go ogainst the foroe of thelr entire swocial world. Romeo retums to wiit |uliet ot points. even .
thowgh b s wall casare of the threot of death. At times, kose B preented os fickle (Mercutios speedhss, Romso + Rowalne).

individwal ws Sediety — Romeo ond juliet ore forced to undermning the cppresive rules of wolety ot the Hrme. For eomple, rule. of the
potriarchal fomily foroe jullet to be wbsendent to ler parents, rules of religicn meean that they mast mormy in hoste, and rules of mosouliniy
fioroe: Roemesesa inta conflict with Tybolt.

Violemee — Extreme violence tokes ploce sporodically throughout the ploy. The fewd betwesen the tao fomilles b so bitter that the

rmzra sight of eaich other con ba the cowse of o fight to the deoth. Unchadhed vickmnoe b personified through the chorodter of

Tybaolt. The viclence culminate: in Adt 3 Scene L in which both Mercutio ond Tybalt are murndened.

Pote = In the firt oddres to the oudience, the Chors stotes thot Aomeo and jullet are “tor-oroas'd” lossers, meoning thot fote hod intended

fizar thiedr peathe o cross, and thot fate confrol thelr odions. A series of unfcrtinots goridents towsords the erd of the ploy thueart Frior
Liowrerce’s phon ond eventualky monifest in both Romes and luliet commiitting sulidide: thae odding to the semnae of fote

Dramatic Devices in Remeo and Juliet

Mercutic ard Benuclio think Romeo B still | Trogle Mers - 4 main charocter cursed by fote ard ! !

Dramatic Iromy pirirg cuer Rosalime, but the oudience posesed of o trogic e (Romeo, and to an extent
knous he hos mouved on to luliet. A2 51 lulie).
ol juliet's cpening spaach in A2 52 in whidh she | Homartla - The fotol dworoeder fow of the trogic horo (he posion

pours her heart out ower her love for Romeo. | and impulsivenss).

Avide o ond e be mare milles candler theowgh empathy with the chorodber.

G jpemrcioer i B3 55,
Friar Lourence: Thaw wslemt oaliphs hove
Faoreshea dessing el s, g’ i Ml frivrmod o Sbe
e g’ poveclar A2 55

bzt secrathy hopas for the illoin' Romeo: | Cotharsls - The relemsa of the oudience's emotion: @

Iintesrmal Conflict - The truggle the hero engoges in with hiher
fotal flows.




Year 8 Subject: Drama

Romeo and Juliet
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In this project you will learn to use The
practical activities which involve food
preparation and cooking will give student
an insight into the role of different types of
chefs. For example, within the kitchen
brigade, they are the executive head chef,
sous chef, chefs de partie, commis chef ,
butcher, vegetable chef, fry chef, cold food
and pantry chef, grill chef, pastry chef, fish
chef, roast chef and sauté chef. Some of
the job roles (e.g. executive chef and sous
chef) are suited for the higher attainers
in the subject and these student will be
given leadership responsibilities. These
skills required by chefs will be developed
by students following recipes to make
dishes using a variety of commodities.
These activities will be supported by

teacher demonstrations and video clips.

Key Vocabulary

Food Safety
Knife Use by date
Table spoon
Butter Knife
Measuring Jug
Chopping Board

Best before date
Frozen Food
Chilled Food
High risk foods

Saucepan Low risk foods
Mixing Bowl Salmonella
Wooden Spoon E Coli

Frying pan/Wok Vitamins & Minerals
Food Mixer Carbohydrates
Baking tray Gluten in

Rolling Pin Gluten

Year 8: Food Technology

Weighing and measuring are skills needed by food scientist and chefs and are practised during the mise en
place stage of cooking. This is facilitated by teacher demonstrations and students following recipes. The
investigative work done on the impact of cooking methods on nutritional value also links to the job role of a food
scientists.

By studying about nutrients and healthy eating using the Eat well guide as a framework, students are to therole
of adietitian and a nutritionists. These lessons will be delivered through home learning, group work activities,
power points presentations and a visiting speaker.

Researching where our food comes from give students the opportunity to hone the skills of a
This piece of work will be done through classwork (market place activity
and home learning.

Food presentation skills are encouraged by adding a finishing technique to dishes made. This is within the remit
of a as well as a

Students practise being a health and safety officer when conducting risk assessment of the food room before
their practical tasks. Through role play, students will study the role of an Environmental Health Officer. Linked
to these two careers, is the unit of work on health and safety and bacteria and food poisoning .

Conducting sensory analysis gives students insights into the job of a food taster and a quality assurer. This
activity is conducted after practical activities in class as well as at home.

Careers in the hospitality industry include managers, administrators, front house staff as well as back house
staff. These careers are studied at KS4 through power point presentations, trips, role plays, independent work
and home learning activities.

Koasfed Vegefable
PAST/

Key Skills & Knowledge
By the end of the project you should have gained the
skills and knowledge to be able to do the following:
Nutrients
Bacteria and food poisoning
Food labelling and traffic light system

Practical activities — making food dishes

feastingisfun.com

—_—

Influential Chefs: Gordon Ramsey, Jamie Oliver




Autumn 1

Year 8: French

1 A la campagne In the countryside 18 La chambre de mon frére My brother’s room
2 A la montagne In the mountains 19 La véranda Veranda/patio
3 Au bord de la mer At the seaside 20 La chambre de mes parents My parent’s room
4 En ville In town 21 Le jardin Garden

5 Dans un village In a village 22 La salle a manger Dining room

6 Dans une grande-ville In a city 23 La buanderie Laundry room
7 Une maison individuelle A detached house 24 Le séjour / le salon Living room

8 Une maison jumelée A semi-detached house 25 A gauche On the left

9 Un appartement An apartment 26 A droit On the right
10 Un pavillon A detached house 27 En face de Opposite

11 En banlieue In the suburbs 28 A coté de Next to

12 La salle de bains Bathroom 29 derriére Behind

13 Le garage Garage 30 devant In front of

14 Les WC/toilettes toilets 31 Sale dirty

15 La chambre de ma sceur My sister’s room 32 Propre clean

16 La cuisine Kitchen 33 Bruyant(e) Noisy

17 Le bureau Office 34 Beau/belle Beautiful (m/f)




Year 8: KS3 Geography

Climate Change

LONG TERM CLIMATE CHANGE
Over the past 800,000 years :
the earth’s climate has % 2
How have global fluctuated with periods of £
temperatures warm weather and periods : )
changed over the of colder weather. g
past 800,000 years? £
300,000 years ago, average global temperatures aloo0 700000 00000 O o oo 00w
were 4°C warmer than today, where as approximately
More specifically..... 420,000 years ago, average global temperatures were 9°C colder than today.

HISTORICAL RECORDS | Historical documents show that temperature changes have resulted in periods of history where the

earth was colder than today (glacials) and warmer than today (interglacials). During the Little Ice
Age, Napoleon’s army froze to death.

PAINTINGS Paintings from 1677 show that the Thames was previously frozen over!

Geological time scale Is a calendar of rocks through time. It can be used to identify time periods or climate patterns from
a rock or fossils.
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RECENT GLOBAL WARMING

How has global
temperature
changed since
18607

More recently the earth’s temperature has
shown a rapidly warming trend, with -
average temperatures continuing to grow.

In 1883, the average temperature was 13.5°C, whereas in

Global average temperature (C) - 5 year average

More 1960 the average temperature had risen t 14.0°C. By 1985,
specifically... the average temperature had risen to almost 14.4°C.
THERMOMETER * Average global temperatures have risen by 0.8°C in the last 100 years.
RECORDS * Most of the warming has occurred recently.
*In the last 35 years, average temperatures have risen by 0.5°C.
* The 20 warmest years on record have all come since 1995.
* The five warmest years on record have come since 2010, with 2016 being the warmest
year yet.
SATELLITE Arctic ice cover has decreased since the 1970s. It has reduced by approximately 4% and
IMAGES has halved in thickness in many places.
SEA LEVEL RISE Rises in temperature and melting ice sheets has resulted in a rise in sea levels.
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NATURAL CAUSES OF CLIMATE CHANGE

Solar

output A sunspot is dark patch on the sun that appears from time to time. Every 11 years
utpu

the number of sunspots changes from very few to lots to very few again.
Lots of sunspots = warmer Very few sunspots = cooler

* During 1645-1715 there were very few sunspots. During this time, there was a
very cold period known as the ‘Little Ice Age’.

[

[

[

|

I Volcanic Violent volcanic eruptions blast lots of ash, gases (e.g. sulphur dioxide)
Activity and liquids into the atmosphere. Major volcanic eruptions lead to a brief
I period of global cooling. This is because the ash, gases and liquids can
block out the sun’s rays, reducing the temperature.

I * Pinatubo 1991 eruption = world temperatures fell by 0.5°C for a year.
|

[

[

[

|

[ ]

Orbital Orbital change refers to changes in how the earth moves round the sun.
Change It affects how close the earth is to the sun and therefore how much
energy we get from the sun. When the earth is very close to the sun, it is
warmer.

When the earth is further away from the sun, it is cooler.

* Eccentricity: how the earth orbits the sun. Every 100,000 years the
orbit changes from circular to elliptical (egg-shaped). This affected
how earth is to the sun.
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HUMAN CAUSES OF CLIMATE CHANGE

The Greenhouse A) Humans produce greenhouse gases, which create a blanket [o] . o
Effect around the earth. J ,/_
B) Sunlight travels to earth as shortwave radiation. ',.-"! -
C) Sunlight bounces off the earth’s surface as long-wave radiation. S '
This reflected sunlight is trapped in the earth’s atmosphere by the . : :
greenhouse gases = earth heats up. &% E'
A) Some heat does manage to escape.

How does human activity = greenhouse gases?

Cows produce a methane when they fart, belch and poo. Methane is a GHG that traps longwave

Methane L ,
radiation in the earth’s atmosphere.

The world’s population is rising and countries are becoming more developed = there are more people
and more families that have money to spend on food (e.qg. meat) = rising demand for meat = more
animals farmed = more methane produced.

Humans are to
blame because....

Carbon dioxide CO, is the GHG that people are most worried about. CO, adding to the atmosphere fastest.

co, » Fossil fuels (coal, gas, oil) are burnt to make energy = carbon dioxide is released into the
atmosphere.

» Humans drive cars, which release carbon dioxide, nitrous oxide and methane into the atmosphere.

Rising population and more developed countries = increased demand for electricity = more carbon

dioxide produced.

Humans are to
blame because...

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
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EFFECTS OF CLIMATE CHANGE

Sea level rise due to melting ice
sheets = flooding in low lying
countries (Bangladesh). 80% of
people exposed to river flooding
live in developing countries.

Extreme weather (drought) =
crops will die = famine. A
famine occurred in Somalia
(2008-9) where 258,000 died
due to a lack of food.

Habitats will be lost due to
extreme weather associated
with climate change.

Extreme weather events =
increase in refugees as
people are forced to leave
their homes due to famine or
flooding.

Pests & diseases: an increase
of 2°C will mean more pests =
more crops will die. E.g.
wheat yields losses will
increase by 46% in countries
such as China.

Pests & diseases: mosquitoes
love hot weather. Global
warming will = 90 million
people will be exposed to

malaria by 2030.

Extreme weather (hurricanes). In 2017 there were 83 storms and 42 hurricanes. This was above average.
Climate change will result in more hurricanes in the future.
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CASE STUDY OF HOW CLIMATE CHANGE AFFECTS LICS: BANGLADESH FLOODS

Location: Southern Asia, along the Tropic of Cancer. It neighbours Burma, India and the Indian Ocean.

* It’s low altitude (<10m above sea level) and long coastline (580km) makes it vulnerable to sea level
rise.

* The Himalayas lie to the north of Bangladesh. The ice and snow melts in the summer, which then
rushes down into the rivers in Bangladesh. This occurs more due to increased temperatures.

* Bangladesh is prone to cyclones and monsoonal rains which bring a huge amount of rain. Due to
climate change, these storms will occur more often.

How has climate
change increased
flooding ?

* 1000s of homes were destroyed

* Rice fields were underwater, crops died. In 2020, 0.15 million hectares crop lands were damaged
in two successive floods

* Salt water got into the ground water, which meant drinking water was contaminated.

* Storm surges contaminated drinking water

* Land lost to the sea, due to sea level rise. Predicted that by 2050 over 17% of Bangladesh will be
lost

* Roads and transport links are destroyed

Primary effects

* 1000s of people were evacuated

* Farmers lost their livelihood and land

* Waterbourne diseases such as cholera spread. 5000 people in the 2020 floods suffered from

Secondary effects | diarrhoea and water-borne disease.

* Mass migration. People leave the area and move to the near by cities. In 2020 it was recorded that
in Bangladesh, 4.4 million people have been displaced due to disasters such as flooding)

* Trade was reduced = less income/GDP
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CASE STUDY OF HOW CLIMATE CHANGE AFFECTS THE UK

Where is the UK The UK is located in the west of Europe. It is made up of England, Scotland, Wales and Northern
located? Ireland.

How has climate
change increased
flooding ?

* Extreme weather will be more common — floods, droughts, heatwaves...etc.
* Sea level will cause coastal flooding

* Flooding due to extreme weather (precipitation and storms) and sea level rise. The number of
people at risk of flooding is likely to double to 1.9 million by 2050. Current flooding costs the UK
£1.9 million.

* Sea level rise and storms = more coastal erosion. It is expected that sea levels will rise by 1 —2m by
2080. The most at risk areas will be soft rock coastlines, such as South Wales, North-West
Scotland, Yorkshire and the Thames Estuary.

Negative effects » Water shortages due to extreme weather (lack of precipitation). Many places will have a lack of
water.

* Increases in temperature can lead to heatwaves, such as the 2003 heatwave, during which
temperatures reached 38.5° C = 2045 deaths. This will become normal summer weather by the
2040s.

* Climate change in other countries (Kenya, Peru, Indonesia) will affect crop yields in these
countries. The UK will suffer as it will be more difficult to import food from these countries.

* A warmer, wetter climate will increase crop yields in the UK.

Positive effects * Tourism will increase due to warmer weather = more jobs and income for the UK.
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What has the UK pledged to do bout climate change under the Paris agreement?

* The Paris Agreement — an international agreement to tackle climate change and it’s effects. 196 countries are
involved.

* Nationally Determined Contribution (NDC) to the United Nations Framework Convention on Climate Change
(UNFCCQ) in line with Article 4 of the Paris Agreement.

* The UK = pledged to Reduce their emissions by 68% by 2030 compared to 1990 levels

* To keep the global temperature increase below 2 degrees above pre-industrial levels. At best max 1.5 degrees
below.

* Implemented a Climate Change Act in 2008 to make it law that Climate Change is combatted.

* The UK = target of ‘Net Zero by 2050. (doesn’t mean no carbon emissions but, the UK should offset what it does
produce.

The Paris Agreement

How can you make a difference?

* Speak up - Make your voice heard, share your opinions on climate change.

* Share your climate change knowledge so that people understand their impact.

* Join a charity, action group, school project to bring about change locally/globally - Take action and join a group
that has a larger audience to get your voices heard.

* Join in community events — safely and peacefully. Join marches or protests (safely with permission) and take a
stand against climate change

Lobby the government. Contact your local MP or government representative asking them to act on climate
change

* Make changes to your lifestyle Small changes can make a difference and reduce your impact.

In your Academy consider how you can improve the following:

The type of lighting — Waste and Recycling —Energy usage and type of energy used- Type of windows

What improvements could be made to reduce your academy’s carbon emissions and contribution to climate change

Making a difference
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How is the UK responding climate change?

Improving public
transport

The UK government has invested £840million in public transport across 10 UK cities.

London have improved buses = more people use the bus & less drive = less greenhouse gases.

» Live information boards at bus stops tell bus users when their bus will arrive making it easier.
» Bus lanes give buses priority on the roads = shorter journey times.

Cycle hire schemes in UK cities encourage people to cycle rather than drive = less greenhouse gas
emissions.

National Parks

Planting trees and preventing deforestation = more trees = more photosynthesis = more carbon dioxide
removed from the atmosphere = less global warming. Many governments have created national parks
to protect trees. The Gola Forest (Sierra Leone - Africa) is a national park that protects 71,000 hectares
of trees.

Renewable energies

Generating energy from natural renewable sources (solar panels, hydro-electric power, wind turbines).
They do not produce greenhouse gases.

International
agreements

Many of the governments around the world meet to discuss climate change and how they can work
together to reduce global carbon emissions. In 2016 world leaders met at the Paris Climate Summit
where 196 countries signed a climate agreement, where they promised to:

» Reduce greenhouse gas emissions and keep global temperature increase below 2 °C.

» HICs to support LICs by providing S100 billion per year

Local Responses

» Solar panels: Using the sun to create energy, therefore less fossil fuels are burned.

» Insulation and double-glazed windows Traps heat in the house = less heating is needed = less energy
used = less fossil fuels burned.

» A shower instead of a bath: Less water is used = less heating is needed for water = less energy used
= |ess fossil fuels burned

» Switch off electrical goods: Prevents the overuse of energy. .

» Turn down heating: Less energy is used = less fossil fuels are burned.

» Use low energy light bulbs: Less energy is used = less fossil fuels are burned.
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‘Great Mughals’

O-eo- o o oo e

1526 1530 1556 1605 1627 1658 1707

A7
| Shah Jahan
(Salim) | (Khurram)

Great Mughals

The first Mughal Emperor, and founder of the Mughal Dynasty was Babur, ‘the tiger’ who ruled from 1526 until 1530 (For more
information on Babur, read pages 6-9 in the anthology)

As a dying Babur had decreed, Humayun succeeded him as the next Mughal Empire. (For more information on Humayun, red pages 10-
13 in the anthology)

From the very beginning, Akbar was keen on innovation and reform. The Mughal army had always used firearms, but under the rule of
Akbar, it became one of the world’s leading exponents of this new weapon technology. (For more information on Akbar read pages 14-17
in the anthology)

Almost as soon as Jahangir ascended to the throne in late 1605, he faced a challenge from an unexpected source; his own eldest son,
Prince Mirza. (For more information on Jahangir read pages 18-21 in the anthology

What the imperial Mughal army did in Malwa and Deccan was described by both contemporary Mughal chronicles and foreign travellers.
Shah Jahan ordered the Mughal army to ‘ravage the country from end to end’. (For More information on Shah Jahan read pages 22-25 in
the anthology)

Shah Jahan became ill in 1658 and this immediately prompted a fight for the succession amongst his sons. Three immediately raised
armies and began a brief but bitter civil war. The eventual victor was his third son, Aurangzeb. (For more information on Aurangzeb read
pages 26-29 in the anthology)
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What mattered to the Mughals?

Family
(Ancestors/Son/Wives)
Military
(Army/Battles/Technology)

Wealth
(Money/Tax/Revenue/Spending/Gems)

Empire
(Controlling land, expanding existing area of control/Conquering new territory)



Maths — Autumn 1

Unit 1- Sequences

No. Question Answer

1.1 What is the position-to-term rule? This is the rule that can be applied to a term to get the next term

1.2 What is the nth term? An algebraic expression giving the rule to find any number in a sequence

13 What is the term (in a sequence)? The numbers in a sequence

1.4 What does consecutive mean? Next to e.g. 5 and 6 are consecutive

1.5 What is a linear or arithmetic sequence? A sequence that increases or decreases by the same amount between terms
1.6 What is the common difference? The difference between any two consecutive terms

Unit 3 — forming and solving inequalities Unit 2 - forming and solving equations
No. Question Answer Example No. Question Answer
2.1 What is a variable? A letter used to represent an unknown number e.g. x
3.1 > Greater than
2.2 What is a term? Each part of an expression e.g. 2x; 4; x?
3.2 < Less than
2.3 What is the constant? The number on its own without a letter whose value does not
change
33 x>2 x is greater than 2
S4—t—t—t—b 2.3 | What is an expression? A mixture of numbers and letters e.g. 2x + 5
2 3 4 5
> . [R—
3.4 x=22 icolszgreater than or equal e 2.4 What is an equation? Two expressions equal to one another e.g. 2x +5 =10
35 x<2 x is less than 2 _— 2.5 What is a coefficient? The number in front of the variable e.g. 2x (2 is the coefficient of x)
S Loa
3.6 x<2 x is less than or equal to 2 — 2.6 What does substitute mean? Replace the variable with a number
-+
doaoa s
3.7 2<bh<4 b is greater than 2 and 2.7 What does solve mean? Find the variable
o—oO
smaller than 4
2 3 4 5
2.8 What are like terms? Terms that have the same letter and same index e.g. 2x? and 5x?
3.8 2<b<4 b is greater than or equal o—eo
to 2 and smaller than or S e e e 4 2.9 | What does simplify mean? Collect the like terms e.g. 2x? + 5x2% = 7x?
equal to 4 0 2 3 4 5




Year 8 Music
Autumn 1 - Keyboard skills

Keyboard Skills: The essentials

Laye rs Of Sound Melody = tune. One note at a time. Can be
sung or played on an instrument.

I Melody

See opposite

.

Bass line = the lowest part. One note at a time!

.

Played on a low-pitched instrument such as bass
guitar, ceflo, double bass, tuba.

4 =
: ":l‘- = rhythm. Played hed
SO L e
Notes on a keyboard

1. Notes are in alphabetical order, going up to G
2. Say: ‘Cis to the left of the two black keys: CDEF GAB’

A note by itself
CANNOT be

major or minor!

CDEFGABCDE

. Every black ﬁoté has two names: sharp # and flat b

Flat = lower than white note
. Sharp = higher than white note

Ul;hw

1. Chord = 2+ notes played together
b, fei ¢

Major = 4 then Minor = 3 then
3 semitones. 4 semitones.
Sounds happy Sounds sad

Semitone = the next

note, courting white
AND black

The bottom note of m

the chord = the root.
The root ghves its E F

name to the chord. l "i:_.@\-ﬁ |

3. Chords are usually played on the
keyboard, guitar, or ukulele,

Am — Chord Mams:

& minor
"""hE:_"a “‘Bigﬂf " ‘ {if there is no ‘m" in the
our fingar i h chord name, it is major)

Frets

J—
i

\ T/
Strings
Left hand side of chord diagram =
string nearest your chin



Year 8: Physical Education

1.1a — The Structure and Function of the
Skeletal System

% of overall GCSE (9-1) in Physical Education (J587)

AO1 AO2 AO3 AO4

Component

1: Physical factors affecting performance . 10 7.5 0

Assessment Objectives

Demonstrate knowledge and understanding of the factors that underpin performance and
involvement in physical activity and sport.

Apply knowledge and understanding of the factors that underpin performance and involvement in
physical activity and sport.

Analyse and evaluate the factors that underpin performance and involvement in physical education
and sport.
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1.1a - The Structure and Function of the Skeletal System

The Skeletal Structure The Skeletal Functions

1. Support —the skeleton keeps the body upright and provides a framework for
O muscle and tissue attachment.

2. Posture —the skeleton gives the correct shape to our body.

,/"‘ v P
o 7 N ribs offer protection to the heart and lungs, the vertebrae protect the spinal
m ¢ i > cord and the pelvis offers protection to the sensitive reproductive organs.
4. Movement —the skeleton allows movement of the body as a whole and its

3. Protection - the bones of the skeleton protect the internal organs and reduce
the risk of injury on impact. For example, the cranium protects the brain, the

Humerus,

individual parts. The bones form joints and act as levers, allowing muscles to pull
on them to produce movement. The bones of the skeleton provide surfaces for

the attachment of muscles.

5. Blood cell production — certain bones in the skeleton contain bone marrow
which produces red blood cells, white blood cells and platelets. Examples of

|

Phalanges

i bones that contain marrow are the pelvis, sternum, humerus and femur.

6. Storage of minerals - the bones store minerals such as calcium, iron, potassium
and phosphorous and release them into the blood when the body needs to use
them.
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1.13 = The Structure and Function of the Skeletal System

Moveable Joints

Synovial joints (freely movable joints):
Enable the free movement to perform skills and techniques during physical activity.
Have synovial fluid in the joint cavity that lubricates or 'oils' the joint, so it moves smoothly. Synovial fluid is made by the synovial membrane.

The ends of the bones are covered with cartilage which cushions the joint and prevents friction and wear and tear between the bone ends. Cartilage is a
soft, spongy connective tissue.

Ligaments:
Connect bone to bone to keep the joint together.
A connective tissue and are tough, fibrous and slightly elastic.

Stabilise the joints during movement and prevent dislocation by
restricting actions outside the normal joint range.

Absorb shock because of their elasticity, which protects the joint.

Help maintain correct posture and movement.

Tendons:
Connect muscle to bone.

Are very strong, inelastic connective tissues.

Allow movement at a synovial joint by attaching the muscles across Synovial Sy_r'lr.wial
the joint to pull a bone. membrane fluid
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1.1a - The Structure and Function of the Skeletal System

Four Synovial Joint

Elbow joint

® Hinge joint.

= Articulating bones are humerus, radius and ulha.

u Allows bending (flexion) and straightening (extension).

= Muscles which move the elbow are biceps and triceps.

Humerus

Joint capsule
(with synovial fluid)

Hip joint

= Ball and socket joint

m Articulating bones are pelvis and femur (head of femur is 'ball' and cup in pelvis is 'socket’)
® Allows a large range of movement in all directions

= Many muscles are used to move the hip joint, including the gluteals

Cartilage

Synovial fluid

Ligament

Knee joint
® Hinge joint.

m Articulating bones are femur and tibia (the patella is not classed as part of the joint, nor is
the fibula).

u Allows bending (flexion) and straightening (extension).

m Muscles which move the knee are quadriceps and hamstrings.

m ey

Quadriceps tendon

0 Patella
Synovial fluid

Collateral ligament

Articular cartilage

Shoulder joint

= Ball and socket joint.

= Articulating bones are humerus and scapula (the clavicle is not part of the shoulder joint).
u Allows a great range of movement in all directions.

= Many muscles are used to move the shoulder joint, including the deltoid, trapezius and
lotissimus dorsi.

Articular . I:c
\ Tendon of biceps
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1.1a - The Structure and Function of the Skeletal System

Types of Joint Movement

Flexion: The decrease in the angle around
ajoint.

Extension: The increase in the angle
around a joint.

Abduction: The movement of a limb away
from the midline of the body.

Adduction: The movement of a limb
towards the midline of the body.

Rotation: The turning of a bone about its
longitudinal axis within a joint. (Rotation
towards the midline of the body is called
medial rotation, while the rotation away
from the midline of the body is called
lateral rotation).

Circumduction: The combination of
flexion, extension, abduction, adduction
and rotation — a circular movement of a
limb at a joint.

Hinge Joint

Flexion: The elbow flexes when
performing a biceps curl. The knee
flexes in preparation for kicking a ball.

Extension: The elbow when throwing a
shot put.

Ball and Socket Joint

Flexion: The hip joint occurs when the
femur (upper leg) moves forwards, which
happens when long jumpers land or at the
end of kick in football.

Extension: The shoulder occurs when the
humerus moves backwards from the rest
of the body, which happens at the end of
the pull stroke in front crawl.

Abduction: The hip and shoulder joints
during a jumping jack movement.

Adduction: The hip and shoulder, returning
the arms and legs back to their original
position from a jumping jack movement.

Circumduction: The shoulder joint during
an overarm tennis serve.

Rotation: The hip joint in golf while
performing a drive shot.
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1.1b = The Structure and Function of the
Muscular System

% of overall GCSE (9-1) in Physical Education (J587)

AO1 AO2 AO3 AO4

Component

1: Physical factors affecting performance . 10 7.5 0

Assessment Objectives

Demonstrate knowledge and understanding of the factors that underpin performance and
involvement in physical activity and sport.

Apply knowledge and understanding of the factors that underpin performance and involvement in
physical activity and sport.

Analyse and evaluate the factors that underpin performance and involvement in physical education
and sport.
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1.1b - The Structure and Function of the Muscular System

The Muscular Structure Involuntary, Voluntary and Skeletal Muscles

Involuntary muscles are not under our conscious control which means
we can’t make them contract when we think about it.

<. Trapezius

Pectorals ¢ 7Y~ 7 \ r Voluntary muscles are under our conscious control so we can move
these muscles when we want to. These are the muscle we use to make
all the movements needed in physical activity and sport.

1. Smooth muscle: found in the internal organs and blood vessels
(involuntary).

2. Cardiac muscle: found only in the heart (involuntary).

‘% "l 3. Skeletal muscle: attached to the skeleton (voluntary).

Gastrocnemius

Function Example in Sport

Lifting the arm at the shoulder (the deltoid muscle has different parts which

o Lifting the arms to block in volleyball; upward arm swing when trampolining
flex, extend and abduct the shoulder joint)

Deltoid

Trapezius Shoulder horizontal extension (moving the arms backwards at shoulder level)  Preparation phase of an overarm throw or badminton smash

Pectorals Adduction of the shoulder (moving the arm towards the body); Shoulder Vs (e Ge [ s ey e G e e

horizontal flexion (moving the arms forwards in front of the body)

Triceps Extension of the elbow (straightening the arm) Shooting and chest passing in netball (execution phase)
Biceps Flexion of the elbow (bending the arm) Drawing a bow in archery; 'backscratch' position during tennis serve
Abdominals Flexion of the spine (sitting upwards) Performing a sit up or a forward roll
dorsi Adduction of the shoulder (moving the arm down towards the mid-line of the  Hitting in hockey — left shoulder during preparation, right shoulder during
Mus corst body) execution and recovery
Hip extension (moving the femur backwards) Pulling leg back at the hip before kicking a ball
Extension of the knee (straightening the leg) Kicking a ball (execution and recovery phase)

Performing a hamstring curl on a weights machine; preparation phase of a
rebound jump in basketball

Standing on tiptoe to mark a shot in netball or pointing the toes during a
gymnastic or dance move

Flexion of the knee (bending the leg)

Gastrocnemius Plantar flexion of the ankle (pointing the toes downwards)




Year 8 Subject: GCSE Physical Education

1.1b = The Structure and Function of the Muscular System

Antagonistic Muscle Pairs

Antagonist: Relaxing muscle that lengthens and thins, controlling the movement

Agonist: Contracting muscle that shortens and bulges, pulling on a bone to create movement. i
through resistance.

Contracted
biceps muscle

Relaxed Contracted
biceps muscle triceps muscle

Relaxed
triceps muscle

L. ) Movements )
Antagonistic pair Sport example Fixator
produced

i i . . Chest pass in netball; i i
Biceps; triceps Flexion; extension . Deltoid; Trapezius
badminton smash

Jumping to block in

Hamstrings; quadriceps Flexion; extension volleyball; tuck jump in Gluteals; Abdominals
trampolining
Adduction; Golf swing; breaststroke . X
Latissimus dorsi; deltoid . . Trapezius; abdominals
abduction arms

Shot in football; Sprinting

X : Abdominals
in athletics

Gluteals; Hip flexor Extension; Flexion
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1.1b = The Structure and Function of the Muscular System

Fixators: Support and stabilise Antagonistic Muscles Pairs in Action

The trapezius muscle can act as a fixator when the biceps is
flexing the elbow joint.

The abdominals can act as fixators to stabilise the body for hip

and knee movements.

Exam Question: Describe how the antagonistic
muscle pairs are working at the elbow during
the downwards and upwards phase of a press

up.

During the downwards phase, flexion occurs at
the elbow. The biceps are the agonist, and they
contract, and the triceps are the antagonist
relaxing and lengthening to stabilise the
movement by adding resistance so the body is
lowered under control down towards the floor.
During the upwards phase, the triceps are the
agonist and contract, shortening and bulging to
pull the ulna creating extension at the elbow.
The biceps are the antagonist, relaxing and
lengthening stabilising the movement

Preparation and execution and recovery phase in football

In the preparation phase, when a footballer prepares to kick a
football, their hamstrings contract to flex the knee while the
quadriceps lengthens to allow the movement. The hamstrings are
the agonist and the quadriceps are the antagonist.

In the contact and recovery phase, the

quadriceps contract to extend the knee while the hamstrings
lengthen to allow the movement. The quadriceps are the agonist
and the hamstrings are now the antagonist.

The abdominals would be acting as fixators.
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AUTUMN 1: Periodic table and materials

1
ee The periodic 12008 0 calculats the = 1) [#hium-e=3, p=3, n=_{b} Hydrogen — e= 1. p=1. n=0 [} Helum - e=F, p=Z, n=I [d]
numbear of profone, nautrons and Map - e=12, p=12, n=12
alectrong In an afom
2} Halogens — reactive, gases, liguids then solids as you move dowmn the group, distomic. Alkali
state some properiles of the halogens metals — reactive, all solids at room temp, low melting and boiling points, resct with water and
and alkall matals QEygeEn

T -

3} Exothermic - A re
Define andothermic and axothermic

reacilona.
4} To test for carbon dicxide, bubbde the gas produced through limewater, which turns clowsdy.
Dencring the tests for oxygen, nydrogen To test for cogygen, use a ghowing splint, which will relight.
and carbon dioxide gases To test for hydrogen, use 3 it splint, which will produce a squeaky pop sound.
Diefine “pariod” and sgroup” 5} Hydrogen
T} Perniods are the nows in the pericdic table and describe the number of electron shells/enargy
svels an atom has. Sodium eto

8} Groups are the colurmns in the perodic table and describe the cuter shell electrons an atom
has. Aluminium =i

1} Do, 2} colour change, 3) precipriate tormed, 4) termperature change, ) gas producad, o)
ight emitted

Igentify the atomic number and mags
numbsr of an alament on the periodic

2} Match the piecs of eguipment to what it s used to measune:

Mas Spesd me Forc
Igantify slx algns of 8 chemical reaction u_t'firﬁ Temperatura Tim mre=
occurring T - ;
Deacribg the propertias of metale ang i - . 3]
nan-metale J
Hame 4 alements In tha Alkall metals,
Halogens and Hobls gases 3 the propertiss that describe mefsls |Box the properties of non-metsls -
Sonorous EFiny ¢ Oucfile  ¢Malleabls
Igentify slements and symbols on the o z — o L
an-;yln tablg. o Using the periodic table on the right: T ITITETTITIE
4} Ma, Fe, Cl. e :
'H:;EI":EI:J?:' liquids and gasas on tha £} Put 3 red circle around 3 solid metal (Any group 1.2 matd FEETEILE
pe ’ transifion meatal, boron, aluminiurm etc), & blue Gircle arourd.a AL
Biquid {see table) and a green circle around a gas (Any proug B O & e e e = 8 e—"
Igantify matals and non-metals on the fluorime, chiorine, hydrogen, helium, oxygen, nitrogen). L
Parlodic tahm__ B s | -..- [ .y L

G} Draw a black ine betwesn the metals and nan-matals.
Igantify the pariods and groups In the
periodic tabls T} Highlight the alkali metals in pink, the halogens
in green and the noble gas=s in yellow.

B} Murnkber the groups and the periods.




Year 8 Subject: Science

AUTUMN 1: Periodic table and materials

Calculaie e relafve Stomic mase
and relative formula mags for
differant substances |[Extenslon

aniy)

Draw the alectronic structurs and
wrlte the elecironic configuration
of an atom [Extanzlon only)

Recall the rules for naming zais (-
Ide and -ate] (Extanalon only)

Deacribe differences between
aarly veralonz of the periodic table
and tha modsarn periodic table
|Extanzlon only]

Deacribe the structure of stoms In
3 pure metal (Extanalon only)

I.-'“-\.. u = -
1} Lighium - 2.1 Hydrogsn - 1 Helium - 2 Magnesium - 282
2}a) Meon has a full outer shell and so niof need fo gain or lose electrons to become stable
b} As you go down group 0, the numbe ciron shells increases

3} Mendeleev left gaps so that elements with similar properties could be placed together
4} Find the relative formula mass (Mr) of the following:
Baryllivm nitrate Ba{MNCy): 133
2. Ammaonium sulphate [MHsR50, 132
3. Aluminivm nitrate ANy 213
&} The atoms in pure copper are all the same size and are in regular rows, which can slide over each
other.

Hamig Bome COMMCN compounde
fram thelr symbal

State some trands In the
properties of the alkall metals

State some trands In the
properties of the halogens

Deecribe the diffarence betwean
andothermlc and exothermilc
raacflons

Hame comman salts

Find slamentz on the perlodic
taible Bazed on & description of
thelr group znd period.

Calcutate the relative formula
maze for differant substances
|Extenslon only)

1} Zan you narne thess compounds !

(&) M=l {b) H=50, () CuS0, (d) CalOH): =} H0 ifi E-Eu
{3} Sodium Chlorde _{b} Sulphunicacid (c) Copper sulphate (d} Calcum Hydroedde (=) Wate
{f) Sulphur dioxide

2} 8) Rieactivity increases 35 you go down the group, softness increases as you go down the group

3} a) Reactivity decrease 35 you go down the group, meling and boding point of the halogens
MCIEASES 35 You move down the group.

4} BExothermic reactions give out energy to the surmoundings, heating i up, whereas endothermic
reaction taks in energy from the surroundings, cooling i dc-.'f' An example of an exothermic reaction
5= magnesiurm reaciing with axygen, hand warmers and self-heat cans.

5} The tube gets hofter because the reaction is an exothermic reaction and so energy is given ouf fo
the sumoundings, heafing it up.

@} Mamnzs these =alis:
Calciurn chioride

magnesium chloride sodiurn sulphate

Calciurn carbonate alurriinium axids sodium hydroxide
T} Calculsie the relative formula mass (M) for the following:

1. Sulphur monoxide (50144

2. Hydrochlonic acid (HCL 36.5

3. Mitric acad (HMOy) 63
&)

a) Mame the element that is m Group 1 and Penod 3. Sodium

by Wame the element that is in Growup 0 and Penod 1. Helium

c} Wame the element that is in Group 4 and peried 2. Carbon




Year 8 Subject: Science

AUTUMN 1: Periodic table and materials

0%

Use tremnde o
pradict the

properties of &
subatance kasad

on Ite postbion In
the pariodic tabla

Deecribe the trends
I proparties of the
nalbls gaBEs
({Extanslon onily)

Explaln how the
structure of alloya
makas m;m
gtrongsar than pura
meatals (Extanaion
anly)

Evaluate which
matarial 1a moat
sultanka for varkous
usgs. (Extanalon

only)

Wite formulas for

given aalte
{Extanzion onily)

Describs tha
struciure of afome
In an alloy
(Extanzlon onily)

1} Fizz rapidly, moving across the surface of the waler, producing a gas.

2} | would place it in group @ (nobde pases) becauss the noble gases are inert and are
which fits the description of the newly discovered slement

3} Si=el is sfronger than pure iron becauss the atoms in stesl are diferent sizes and an
means the rows cannot slide ower each other when hit, making steel harder and stronger,

i
=]
[T}
u

4} Chlorine and Fluorine below:

)} Chloring's outer electrons / shell Msteris Beitenass | Water Transparen | Rigidity Weight
closar to the nudleus so the chlorine rediance | of
nucleus has greater attraction for
ouier electrons § shell so chiorine Clary carainc | Biime My Doadue Haid sy
gains an shectron more easily
a) Fruit bowl — clay ceramic . Sw:w. - o e .
would be best 35 i can be —
covered in a glaz: to make it Polytmetm Shaner Yes Trangparent | Harg Ligre
waterproof and is the Ty | M
chieapest material that could
support the weight of the firuil.
I:I:l Skis - :'""' ass would be the Concrete Tiowgh e Conaque Hamr Loy hoarey
bt r“'at:'s as it is shatber
resistant and light, to allow for
speed, and opaque, for

wisibility i snow
cl A protective barmier for speciators at an ice hockey game — poldmethyl me
a5 i is shatter resisiant and hard, to withstand co
but transparent so that spectators can see the game through it.
@} | would use concrete to build the foundations of 3 larpe building because it is a strong and rigid ma
support the weight of large building

thacrylate) would be the best material
sions from hockey players and eguipment fo protect spectators,

tenial which can




Year 8 Subject: Science

AUTUMN 2: Chemical reactions and the environment

Write word and symbol equations for
oxldation reactiona

Dwfine coneervation of mase

Write word and symbol equations for
matal and acid resctions

Deacribe combustion reacilons

Deacribe how foasll fuels have formed

1] Complete the senbence balow:

e Elze of marle Vaolume of Carbon Dioxida
A5 the sire of marbe ciip increases e wolun ohipc produosd bn 1 minugs jom
Carhovn Dioxide procuced decregses.
Powdir 70
Smal 53
Meadium an
2] Match the unit 1o the measuremeant Taroe ]
o Tima Temperafure Farce Mass Speed Length Welume |
i F] C M kg L] o el i

3) Writer the general word equation far metal ceidation reactions
M etal + ancypan = metal axide

4 Writes the word equations far complete combustion and incamglets cambuston
- : ik o+

i
cank L s & Carban & wabar

5) Describe the canditiors in which fassil fuels ane fom, including what they farm fram!

Fossil fuels form fom the remains of dead plants and animals, requing a high Semperatune and high

pressiine over millions of ye 1
&) Complete this smple prediction:
A5 the femperaiure incresses the rate af resction will Increase.

Declds which regction happens st faetest
rafa

Daacribe the oxidation reactions
Deacribe metal and acld reactlons
Hame thrae graenhouss gasss

Hamie thras fozall fusls

1} Shagquan adds some hydrochlons ackd to some copper sulphate. Ghve things he shauld be feaking
aut for to show that thers has been a chemical reaction. Colour change, formation of a precipitabe

21 What is caidation? Give an example

The addition of caygen to an alement, for example, whan Zine reacts with cxygen to produce Fine oxide

3) Using the diagram an tha rght put the Tour metaks in the order of how strangly tey
react with the acid
moat reactive magnesiin
i
o

ezt reactive I P F)

4] Mame two products of metals and acids reacting together.  Sall and hydmgen gas

5) Mame thies gréenhouse gases. Carbon dicadce, medhand, waler vapour

B) Name thres fassil fusls. Coal, nabural gas, ail




Year 8 Subject: Science

AUTUMN 2: Chemical reactions and the environment

Predict whethar displacemant
ragctlons will pccur or nof

wirite word equatlons Tor
displacement reactions.

Explaln why humana should
recycla linking to the carbon cycks
and finlte resources

Deecribe the effect of a catatyst on
rafe of raaction [Extenalon only)

Describe how & aclentist can
Increass the rete of reaction In an
axparimant [Extanslon only)

Deacribe the greenhouss effect
{EXT)

1) Are the follawng displascsment reactions possible or net?

{a) Cappar and Zine Sulphate -> Copper Sulphate and Zinc Mot possible

(b bram and Gold Mirate -= ron Nitrabe and Gald i

ie] Patassium and Capper Sulphate > Polsssium Sulphate and Copper Passible
21 Wirite & ward equation ‘r_r e + I}' wing dr:ulucl.-u'-cl'r Tt ales

A b medbad

4 Describe haw adding manganase oxide (& calalyst) 1o hydrogen peraxide will affect the rate at which axygen
and water are produced . will increasa the rate of the reaction because it lowens the
sictivatian an and i
31 A scenbist s reacting markile -I|||.'ﬁ:- I-'..:I R L.rb-urul!.-
reaction cawld be increased 7 Gre

mixtine gently, increasing the
&) Explain wity the average glo
greenhauss effect. T
et Bl cne
heating the atmo

) with acid, 'What are the .f.a:.-s inwhich ||'|l= rate l:!l this

Inveafigate the reactivity of
different sdamants and wes this to
place them In to & reactivity serles
(Extanzlon onily)

Plzce metale In order of resciivity.

Isentify Tactore affeciing the rate
of ragctlion

Deecribs two ways In which
humana are coniribufing fo
climate change

Link photoayntnesls, respiration
and combusation to the carbon

cycle

State factors that will amect rate of
rezcilon (Extenalon only)

1) Pul thesa three metals in order from most to least reactive: Thied - Gold Fird - Potassium second
lgrieiLm

2) Abdulahman is carrying out an nvestgation into the effect of emperature on rate of reaction. He puts the
magriesium into hydrochlonc acid and measures how lang the reaction takes & different temperatores; 3075
40°C and E0°C

a) What are the independent (the one he is changing) and dependent (the one be is measuning) varisbles?
"||"I|"II'\._| Hhe temparatuieg (V) and measuring haw long the reaction takes (DV)

during phelesynt
jon simil ary

alion in living arganis
smaunt of carbon dioxide in the simasphens

5) Wse the datas in the table below 1o write o soentific conclusion linking concentration of acid 1o rate of resctian

Concentrabo | Time Lskan
n af acid far reaction

[rnal} 1o finish |=) A the concentration of the acid
gi 13§ ncresses, ¢ s taken for the
|:|.E :21 action ko finish d in ertheer
o 78 thee rat eartin
1.0 T8 NCrEdsss i aptration increases,
1.2 :x]
1.4 k5]
1.6 k]

a) hlanu: the faciors that affect rabe of reaction: Temperature, pressune, conoeniration, surfacs area, catalyst

Al




Year 8 Subject: Science

AUTUMN 2: Chemical reactions and the environment

G5+

Wirlts balanced symbal squations
far displacemient raactions

Deacribe acld = metal hydroxids
ragcilons

Wirlts word and symbol equationa
far acid - mstal hydrozide
ragcilons

Deacribe acid = metal carbonats
ragcilons [EXT)

wWirtte word and eymbol aguationa
far acid - meial carbonats
ragcilons [EXT)

Use the reactivity serles to pradict
the owtcome of reactions Involving
miatals (EXT]

Link conesrvation of mass o
balsnced aymbol squaticns (EXT)

1 Wirite & balanced symbol squation for each of the reactions in 700 02
usS0y + Zn 2 ZRE0y + Cu Mg = Sa0M0; ) = Ag 2K+ Znh0; )= N0,
21 Wirite the general word equation far metal hydrcides reacting with acids

=l

p T,
+ M MU

i) Far each of the reactions: { ) Potassivm and Alaminium Chionide .
Potassium would displace aluminium becausa it is more reactive. | (i) Inan Sulphaie and Copper ;
opper wiould not dsplace ron bacause i is not a8 neachve i i) Sikeer nitrate and Calcium i
AlGiuim walld dsplace sibar because | s mons neachve : i

Fotassiom + aluminium chilande = polassiim chioride
TN, K ® Al = AR # A

Sitvar nitrate + Galcium — caldum nitrate + sibeer  Ga & A90N04 ) = Ag + GaNO
41 Wirite ot the prod wets for the folowing reactions

Sodium hydroxide & hpdrochlans acid 3 sodium chilaride + waler

Magresium fydroside + sulpburic sad < magnesiim sulphale + waber

5 Wirite oot the prodwcts for ibe fallowing reactions
cabsilim carborabe + hydrochlans acid 2 caldiim chioride & wabar & carbon dicadce
magresium carbonate + sulphuric acid 3 magnesiom sulpheie + water + carbon dioxide
‘Wite the symbol equations for the above reactions:

AL & FLA o LAl + Fghl & Ll

gDy, + HS0, = MgS0y + Hyl o+ 1




Autumn 1

Year 8: Spanish

1 | Un sétano A basement 18 | Comodo Comfortable

2 | Un salén A living room 19 | Incémodo Uncomfortable
3 | Un comedor A dining room 20 | Grande Big

4 | Unacocina A kitchen 21 | es/ son It is/they are

5 | Un atico An attic 22 | Hay There is

6 | Unjardin A garden 23 | Vivir To live

7 | Un cuarto de baiio A bathroom 24 | El campo The countryside
8 | Un dormitorio A bedroom 25 | La montafia The mountains
9 | Un despacho/una oficina An office 26 | Laplaya The beach

10 | Un garaje A garage 27 | Unaaldea Avillage

11 | Pequeiio Small 28 | Una ciudad A city

12 | Lujoso Luxurious 29 | Un pueblo A town

13 | Bonito Pretty 30 | El norte The north

14 | Feo Ugly 31 | Elsur The south

15 | Limpio Clean 32 | El este The east

16 | Verde Green 33 | El oeste The west

17 | Antiguo old 34 | En el centro In the centre




Year 8 Subject: Drama

Autumn 1

1 | Un sétano A basement 18 | Comodo Confortable

2 | Un salén A living room 19 | Incémodo Uncomfortable
3 | Un comedor A dining room 20 | Grande Big

4 | Unacocina A kitchen 21 | es/ son It is/they are

5 | Un atico An attic 22 | Hay There is

6 | Unjardin A garden 23 | Vivir To live

7 | Un cuarto de baiio A bathroom 24 | El campo The countryside
8 | Un dormitorio A bedroom 25 | La montafia The mountains
9 | Un despacho/una oficina An office 26 | Laplaya The beach

10 | Un garaje A garage 27 | Unaaldea Avillage

11 | Pequeiio Small 28 | Una ciudad A city

12 | Lujoso Luxurious 29 | Un pueblo A town

13 | Bonito Pretty 30 | El norte The north

14 | Feo Ugly 31 | Elsur The south

15 | Limpio Clean 32 | El este The east

16 | Verde Green 33 | El oeste The west

17 | Antiguo old 34 | En el centro In the centre
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